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2202 x23, 00024 = 5,060
- JHYZEIIA Q|QAE ANEXLS LE2B2

1,7202x50024 = 860

o 6.2 H|

- 2A29 2z 5,130,000& = 5,130
- A A2 A OFI22X 24!

5,000 x7 2 x8U x 12 = 3,360
— AA A2 GAIZE OFI22 X 24!

5,000 x4% x7 L x 12 = 1,680
— THARMl DINIKIE A2 Q22X A

5,000 x4% x7 L x 12 = 1,680
- DELYS BNKES AL OF2422 X =2 A

5,000 x3% x8U x 12 = 1,440
- NEZEHIIAMNE SHE SR OIA22X 24

5,000 x17Ex 10 x23] = 1,700

o 9. AI&ZHIS XY

- HADD| SXRIES 1,200,0004x128 = 14,400
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X (1000) L BFEE Al 2H:(1200) L EHYF H] 8 (1250) T & 22 Mg (1251) M= 22 HIAIES: (120) B A= A Y| (SR
ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = of & = A 2
- DETUM SX22ABS 380,0002x128 = 4,560
202
01t 63,000 56,320 6,680
63,000 56,320 6,680(01 =L§ 01|
o FQARER I 20,0002 x24EHx52Ux 128 = 28,800
o AR - T GFAG, XUAN HILS AN
45,0002 x6 % x42 x23| = 2,160
o MMEPS NS L 39 &A0Y|
45,0002 x4 % x52 x4 3 = 3,600
o THEY BAIKE ZAOH
45,0002 x7 8 x4 x63 = 7,560
o AMMEY BAIXE EAOH]
45,0002 x4 H x42 x53] = 3,600
o THAMMIES DIAIXI2 ZAMGIH
45,0002 x4 H x4 x53] = 3,600
o LYY WAXZ ZAH
45,0002 x3H x4 x53] = 2,700
o MWELY BWAXZ XA
45,0002 x3% x4 x53] = 2,700
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Z:(1000) LB A H| 2 (1200) L B M H| &k (1250) & 22| AMIst: (1251) Al & 2tel HIAIE : (120) 3 & & ZH| [EFREH][HR:EH]
ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = of & = A 2
o MuYXalgd N2 ZAYI
45,0003 x5 x4 x53| = 4,500
o ZUAMLEAM A0 45,0002 x3Bx4L x73| = 3,780
203
A2 =X 4,200 4,200 0
4,200 4,200 0|04 ENSHAEL2FZXH|
o BAN2Y YREXH|(HA:27H)
350,000 x12& = 4,200
204
NI A 28,800 28,800 0
HI
28,800 28,800 0|03 S RHESH|
o MNHRERLs &= 100,000& x24H x12& = 28,800
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Z:(1000) LB A H| 2 (1200) L B M H| &k (1250) & 22| KISt: (1252) &l 4= 2t e HIAIE :(110) 2 A H] [ERH] [ HH]
ok = 7S I R == ] im}
of &b oH AF 2 ol =
2B NIE MIMIE = of & = A 2
1252
A a=2te| 134,075 133,389 686
100
A A 134,075 133,389 686
110
ol 4| 6,127 5,454 673
101
o1 Y| 6,127 5,454 673
6,127 5,454 673|110 LAIAIE 12X
o RSH LUAXH L U2SHBE ol
31,3002 x 1 x602 x33] = 5,634
o AEE J|&aEEe=2 5,634,000&x8.74% = 493
120
AN XA 127,948 127,935 13
201
L2 9 y| 82,074 84,674 A2,600
82,074 84,674 A2,600|01 et
o 1.YtA2Y|
- Ax2e| S2FX JEIE=2H| 8,500,000& = 8,500
- XM BADXA S0l
S=NIAM(2E) 70,000& x50 A = 3,500
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03
rt
oy

HIg: (1252) & %2 HIAIE: (120) 2 & = ) [(273] (9]
D
& = | ES
VAN 4

M2 DX A (22) 70,00020x1108F A = 7,700
- MEDNMN 2sE Z=2s =

5021 x60, 0000H = 3,000
- AZHES 2SN SIIRSE L3448

1,0002x3,00021 = 3,000
- RSN UR(HM)ESSI| AFLLZ

2,0002x2,00021x23] = 8,000
- BOHY MEt 242 150,00021x188] = 2,700

o 3. BRI YLHAI

- MEDIMN % YBSAAN 2ERBE

21 5t 22021x7,00021x 128 = 8,480

=5l 1,72021x1,00021x 128~ = 20,640

o 6.2l

- AEHE Y FE2Fe ORIZSN S4

5,0002 x4 x 102 x 12 = 2,400
- AgY g 4 Hel ORI2ex Z4

5,0002x42x 102X 122 = 2,400
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:(1000) L BH R W 2 (1200) & BHE F b 3¢ (1250) K & 22 Mg (1252) 5«2t el MIAIE: (120) 2 4 = Z b (=SR] [ 3]
i = S == S i}
of &b o AF 2 ol =
.28 NE . HAE = of & % = oA
o 9. AIEFHIR XY
- BEH8Z3I RS 21,920,00024x8/100 = 1,754
301
U A2 20,874 18,261 2,613
20,874 18,261 2,613|09 BU2RAZAI
o BARLQA(AREX)
- Je3 65,0008 x8Yx 128 = 6,240
- BA 4,000 x8%x22Ux 128 = 8,448
- nEH| 1,8002x8Yx22Ux 128 = 3,802
- o=yl
22= 130,0002x8Hx2E = 2,080
2% 5,00090x8% = 40
2 3,0002x8% = 24
- To9 gsEd 15,0002/ x89x2 = 240
303
ZNS 25,000 25,000 Ol NYA My F+=N3
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Z:(1000) & B &t (1250) M E &el Mg (1252) F =2t NIAIE: (120) B & = I [SRE] [ HH]
& 4 & H m
oH | - At = J| =
Ol &b s A &
- 7 & 300,000,000&x5/100 = 15,000
- s¥s 200,000,000&x5/100 = 10,000
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(1000) LB R B (1200) 2 HHE K ) B (1250) T = 2+ 2] Mg (1253) 31 H 22l NIKIEE: (120) 2 A = 2 b CETNCEIEE)
2 = & " & H m
ol o o | - A = 5 =
BB B HAE o o A M| = oA 2
1253
szl 356,627 333,195 23,432
100
24 AL 04 41 204,338 206,549 A2.211
120
2 AR 2| 204,338 206,549 A2, 211
201
o2 oty 220,758 202,799 A2,041
220,758 202,799 A2,041]01 Loy
o 1. gpagy
_ s JlE g 5,000,0008 = 5,000
_ mDjoEBE Eaas 250,0002x128 = 3,000
_ HYUAWEZ gEasz 2,000,002 K14l = 2,000
S ONOBEIAIAY SX 242 120,0008x128 = 1,440
_ ETYE o4z 20,0002 40021 = 8,000
o 3. ZRRIYHA
~ @z 5,500,002 K128 = 66,000
_ Msiaca 500,00080x128 = 6,000
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Z:(1000) LB EE B+ (1200) LEHHF b &1 (1250) W@ 22 MIg: (1253) 3131 22l RIS : (120) 2 AR A b [sra)(ceaa]
2 = & 4 = | |
off &b o AF 2 ol =
g NE HAE = of & A = oA
- X AT HASU3
&8 810,000 x40} = 3,240
=) 663,000&x50H = 3,315
a2 650,000&x9CH = 5,850
- BANHRYS
AES 400,0002x23] = 800
2R 50,00024x17CHx23! = 1,700
- DNERLEYI 3508x5,675M x0.82x50/100 = 815
o 5.01=H|
- 2NN 22= 130,0002x78 = 910
> 6.2&H|
- BNEYUAMFRER Y AZHAIY ORIZPX SA
5,000 x52x102x103] = 2,500
o 8.91=H|
- 2(0) 99121x0.9 £ x95LUXBAI 2x7CH = 4,745
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ZH:(1000)¢ :(1250) H & 2tel NI (1253) 8l 2tel NIAIE: (120) B & = I [SRE][e2:3H]
< Bl o
&t = Il =

.2 g A MAE s A&
=3I 991&x20 £ x95L x10CLH = 18,829
22
4,664 x952 x8Al 2tx40,000Kcal /100,000Kcal x1CH = 1,418
AEEBIR X b
A= FAE=H| 4,222%x5,675m = 23,960
JIEtAIE R XE==HI 4,000,000& = 4,000

10. Ah&f & 8|
sE(8g) 4,240,000&x2CH = 8,480
SE(XE) 3,757,000&x3CH = 11,271
S=xt 2,886,000 x3CH = 8,658
SE(AE) 2,974,000&x504 = 14,870
3=(Eg) 4,202,000&x1CH = 4,202
SE(SE) 2,714,000&x1CH = 2,714
SEH(AE) 2,347,000 x3CH = 7,041
301
2etEag A170
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= 2 S(1250) W& 22| Mg (1253) 31 H 22 HIKIBE: (120) Z A S 2 Y] (SR
n H ml
A = 7| ES
Xt BB MIE. HIMIE = = A 2
09 ZolaLAB AR
o ZAARQA(AREX)
- =3 65,0002 x 1% x128 = 780
- =AY 4,000 x1%x222Ux 128 = 1,056
- D= 1,8002x1%x22Ux128 = 476
- o=yl
age 130,000 x1%Hx2E = 260
[=B{! 5,0002x1% = 5
QUrH 3,0002x1% = 3
- CC9 g5 15,0002 x 132 = 30
A170110 SAFAIH| B A2
o TUHEFIIAL MSH3 &IHoiHl B4
45,0002 x8% x2 = 720
o HASESAYUSH EIIX 2AMZ
5,0002 x50% = 250
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X (1000) LB EY B (1200) 2L B EY B (1250) T = 2+ 2] Mg (1253) 31 H 22l HIHI £ (220) TR AR o)
ol o o i - A = 5 =
ENERLE = o | = oA
200
A 0l 4 132,289 106,646 25 643
220
T ALY 132,289 106,646 25 643
206
T 300 500 A200|o BAASIEH XITTY 300, 0002 x1 4! 300
401
AEH s 61,800 0 61,800
CHd|
61,800 0 61.800/01 Al&H]
A S YADA 20,000, 0002 x 14} 20,000
HAQIAT D AL DED, HED) H2E DA
70,0002 x 1407 9,800
ANOIEES DRE O|F DA
PC 2 JIEFEH| Ol 100,00020x600H = 6,000
- o= 120, 00021 x 150 8,000
- DST(TANEE) QHZI0 L FHIIZA
8,000,000 x 14! 8,000
405
IS 70, 189 106,146 A35,957
70, 189 106,146 A35,057|01 A S Z 3 S|
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2 (1250) HE 22 Mg (1253) 813 22 KUK : (220) KEAI AFES EERIECR-E)
Woa w28 = ) N - ) ~
NN ] o A % = oA 2

o HA Y 67,000,000/ x 10§ = 67,000

o LEHZ DA
- ATHHEUR) 91,3502Ix 1000 = 914
- HA(E) 135,000 x 1004 = 1,350
- EHAN(2kze) 185,000& x50 = 925

22,928,989 11,439,230 11,489,759
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